Prepared by: MO Solicitation#: B-11-017-RA PROPOSAL: TIME & DATE:		Contract #: C-11-017-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job Nos. 11-0104 (O&M) & 11-1401 (CIP) 2011 Annual Water Distribution Leak Repairs Contract - Package 2 (Re-bid) 2:00 p.m. April 7, 2011		Bartek Contruction P.O. Box 200203 San Antonio, Texas, 78220		Pronto Sandblasting & Coating 9456 South Presa San Antonio, Texas, 78223		Pipelayers, Inc. 7580 Grissom Rd San Antonio, TX, 78251	
Item No.	Estimate Qty		Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
103.1	150.00	LF	Remove and Dispose of Concrete Curb	\$11.20	\$1,680.00	\$1.00	\$150.00	\$10.00	\$1,500.00
			Remove and Dispose of						
103.3	200.00	SY CY	Sidewalks/Driveways Flexible Base	\$23.20	\$4,640.00 \$1,550.00	\$36.00	\$7,200.00 \$1,800.00	\$10.00	\$2,000.00 \$15,000.00
200	50.00	CY	Flexible base	\$31.00	\$1,550.00	\$36.00	\$1,800.00	\$300.00	\$15,000.00
203	85.00	GAL	Tack Coat	\$18.00	\$1,530.00	\$20.00	\$1,700.00	\$20.00	\$1,700.00
205.4	850.00	SY	HMAC Type D-2 Inches	\$83.65	\$71,102.50	\$70.00	\$59,500.00	\$60.00	\$51,000.00
208	50.00	CY	Salvage, Haul, Stockpile Asphalt Concrete	\$20.20	\$1,010.00	\$520.00	\$26,000.00	\$100.00	\$5,000.00
500.1	125.00	LF	Concrete Curbing	\$34.35	\$4,293.75	\$20.00	\$2,500.00	\$50.00	\$6,250.00
500.3	25.00	LF	Concrete Gutter	\$37.00	\$925.00	\$25.00	\$625.00	\$60.00	\$1,500.00
502.1	50.00	SY	Concrete Sidewalks	\$86.00	\$4,300.00	\$70.00	\$3,500.00	\$80.00	\$4,000.00
503.1	75.00	SY	Concrete Driveways	\$86.40	\$6,480.00	\$75.00	\$5,625.00	\$90.00	\$6,750.00
503.2	75.00	SY	Commercial Driveways	\$97.90	\$7,342.50	\$80.00	\$6,000.00	\$100.00	\$7,500.00
508	200.00	LF	Relocate Fence	\$20.20	\$4,040.00	\$7.00	\$1,400.00	\$60.00	\$12,000.00
511.3a	100.00	SY	Cutting and Replacing Pavement 10"/3"	\$101.00	\$10,100.00	\$120.00	\$12,000.00	\$150.00	\$15,000.00
511.3b	100.00	SY	Cutting and Replacing Pavement 6"/2"	\$93.50	\$9,350.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00
515	25.00	CY	Top Soil	\$25.70	\$642.50	\$24.00	\$600.00	\$50.00	\$1,250.00

Prepared by: MO Solicitation#: B-11-017-RA PROPOSAL: TIME & DATE:		Contract #: C-11-017-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job Nos. 11-0104 (O&M) & 11-1401 (CIP) 2011 Annual Water Distribution Leak Repairs Contract - Package 2 (Re-bid) 2:00 p.m. April 7, 2011		Bartek Contruction P.O. Box 200203 San Antonio, Texas, 78220		Pronto Sandblasting & Coating 9456 South Presa San Antonio, Texas, 78223		Pipelayers, Inc. 7580 Grissom Rd San Antonio, TX, 78251	
Item No.	Estimate Qty		Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
516.1	75.00	SY	Bermuda Sod	\$18.60	\$1,395.00	\$10.00	\$750.00	\$20.00	\$1,500.00
516.2	75.00	SY	St. Augustine Sod	\$22.30	\$1,672.50	\$10.00	\$750.00	\$20.00	\$1,500.00
530	74.00	EA	Barricades, Signs and Traffic Handling	\$864.80	\$63,995.20	\$4,100.00	\$303,400.00	\$2,000.00	\$148,000.00
550	400.00	LF	Trench Excavation Safety	\$10.48	\$4,192.00	\$3.00	\$1,200.00	\$8.00	\$3,200.00
805.1	100.00	HR	Police Officer	\$45.10	\$4,510.00	\$50.00	\$5,000.00	\$80.00	\$8,000.00
824.11	10.00	EA	Reconnect 3/4" Service	\$654.00	\$6,540.00	\$620.00	\$6,200.00	\$800.00	\$8,000.00
824.12	6.00	EA	Reconnect 1" Service	\$1,120.00	\$6,720.00	\$750.00	\$4,500.00	\$900.00	\$5,400.00
824.13	2.00	EA	Reconnect 1 1/2" Service	\$1,780.00	\$3,560.00	\$1,100.00	\$2,200.00	\$2,400.00	\$4,800.00
824.14	1.00	EA	Reconnect 2" Service	\$3,400.00	\$3,400.00	\$1,300.00	\$1,300.00	\$3,400.00	\$3,400.00
824.21	5.00	EA	Relay 3/4" Short Service	\$1,069.00	\$5,345.00	\$600.00	\$3,000.00	\$1,200.00	\$6,000.00
824.22	2.00	EA	Relay 1" Short Service	\$2,170.00	\$4,340.00	\$750.00	\$1,500.00	\$2,000.00	\$4,000.00

Prepared by: MO Solicitation#: B-11-017-RA PROPOSAL: TIME & DATE:		Contract #: C-11-017-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job Nos. 11-0104 (O&M) & 11-1401 (CIP) 2011 Annual Water Distribution Leak Repairs Contract - Package 2 (Re-bid) 2:00 p.m. April 7, 2011		Bartek Contruction P.O. Box 200203 San Antonio, Texas, 78220		Pronto Sandblasting & Coating 9456 South Presa San Antonio, Texas, 78223		Pipelayers, Inc. 7580 Grissom Rd San Antonio, TX, 78251	
Item No.	Estimate Qty			Unit Price	Total	Unit Price	Total	Unit Price	Total
824.23	1.00	EA	Relay 1 1/2" Short Service	\$2,350.00	\$2,350.00	\$900.00	\$900.00	\$3,000.00	\$3,000.00
824.24	1.00	EA	Relay 2" Short Service	\$4,080.00	\$4,080.00	\$1,300.00	\$1,300.00	\$4,000.00	\$4,000.00
824.31	5.00	EA	Relay 3/4" Long Service	\$1,747.00	\$8,735.00	\$1,000.00	\$5,000.00	\$2,400.00	\$12,000.00
824.32	2.00	EA	Relay 1" Long Service	\$2,825.00	\$5,650.00	\$1,100.00	\$2,200.00	\$2,800.00	\$5,600.00
824.33	1.00	EA	Relay 1 1/2" Long Service	\$4,380.00	\$4,380.00	\$1,575.00	\$1,575.00	\$4,000.00	\$4,000.00
824.34	1.00	EA	Relay 2" Long Service	\$4,640.00	\$4,640.00	\$2,100.00	\$2,100.00	\$5,000.00	\$5,000.00
828.1	2.00	EA	Replace 6" Gate Valve	\$3,720.00	\$7,440.00	\$1,000.00	\$2,000.00	\$7,000.00	\$14,000.00
828.2	2.00	EA	Replace 8" Gate Valve	\$4,090.00	\$8,180.00	\$1,500.00	\$3,000.00	\$8,000.00	\$16,000.00
828.3	1.00	EA	Replace 10" Gate Valve	\$4,730.00	\$4,730.00	\$2,100.00	\$2,100.00	\$9,000.00	\$9,000.00
828.4	1.00	EA	Replace 12" Gate Valve	\$5,380.00	\$5,380.00	\$2,600.00	\$2,600.00	\$14,000.00	\$14,000.00
834.1	5.00	EA	Replace Fire Hydrant	\$4,944.00	\$24,720.00	\$2,900.00	\$14,500.00	\$10,000.00	\$50,000.00

Prepared by: MO Solicitation#: B-11-017-RA PROPOSAL: TIME & DATE:		Contract #: C-11-017-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job Nos. 11-0104 (O&M) & 11-1401 (CIP) 2011 Annual Water Distribution Leak Repairs Contract - Package 2 (Re-bid) 2:00 p.m. April 7, 2011		Bartek Contruction P.O. Box 200203 San Antonio, Texas, 78220		Pronto Sandblasting & Coating 9456 South Presa San Antonio, Texas, 78223		Pipelayers, Inc. 7580 Grissom Rd San Antonio, TX, 78251	
	Estimate Qty		Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
834.2	5.00	EA	Replace Fire Hydrant 6" Valve	\$5,778.00	\$28,890.00	\$3,800.00	\$19,000.00	\$18,000.00	\$90,000.00
1015	20.00	EA	Service Line Leak Repairs, 3/4" to 2"	\$2,894.70	\$57,894.00	\$1,200.00	\$24,000.00	\$3,000.00	\$60,000.00
1020.1	10.00	EA	6 Inch Water Main leak Repair	\$3,857.00	\$38,570.00	\$1,900.00	\$19,000.00	\$5,000.00	\$50,000.00
1020.2	6.00	EA	8 Inch Water Main Leak Repair	\$6,833.00	\$40,998.00	\$2,800.00	\$16,800.00	\$9,000.00	\$54,000.00
1020.3	2.00	EA	10 Inch Water Main Leak Repair	\$7,230.00	\$14,460.00	\$3,400.00	\$6,800.00	\$9,000.00	\$18,000.00
1020.4	2.00	EA	12 Inch Water Main Leak Repair	\$8,344.00	\$16,688.00	\$4,300.00	\$8,600.00	\$10,000.00	\$20,000.00
3000.7	7.00	EA	Removal, Transportation and Disposal of A.C. Pipe	\$2,501.00	\$17,507.00	\$1,000.00	\$7,000.00	\$2,000.00	\$14,000.00
3000.8 4438	1.00 50.00	EA CY	Asbestos Abatement Work Plan Flowable Fill	\$2,320.00 \$110.30	\$2,320.00 \$5,515.00	\$1,400.00 \$120.00	\$1,400.00 \$6,000.00	\$2,500.00 \$300.00	\$2,500.00 \$15,000.00
Line Item "A"SUB-TOTAL BASE BID					\$537,782.95		\$614,275.00		\$794,350.00
CALENDA	CALENDAR DAYS TO COMPLETE				200		200		200
					[1]		[2]		[3]